L4.4c Factor Theorem
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-4(1 -1-20 o0

-4 20 0

1 -5 0 0
gx)=x(x+4)x—5)

511 -5 -9 45

5 0 —-45

1 0 -9 0
1) = (x — S)x — 3x + 3)

6|1 -6 0 -8 48
6 0 0 -48
1 0 0 -8 0

S == 6)x —2)(x* + 2x + 4)

-4 (1 4 0 -64 -256
-4 0 0 256
1 0 0 -64 0

5(x) = (x + H(x — 4)(x* + 4x + 16)

-7 |1 0 -37 84
-7 49 -84
1 -7 12 0

rx) = (x+ Tx —3)x—4)

=211 -1 -24 -36
-2 6 36
1 -3 -18 0

h(x) = (x + 2)(x — 6)(x + 3)

D; The x-intercepts of the graph are 2, 3, and — 1.

C; The x-intercepts of the graph are 0, —2, —1, and 2.

A The x-intercepts of the graph are —2, —3, and 1.

B; The x-intercepts of the graph are 0, 2, 1, and —2.
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